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EXPONENTS AND POWERS

Illustrations

1. Find the value of 

Watch Video Solution

112 + 122 + 132 + + 202.

2. Find the value of : 

Watch Video Solution

55

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FXSI5nPzdDIK
https://dl.doubtnut.com/l/_9wcrmQMJw6LQ
https://dl.doubtnut.com/l/_bOM2V3ZLc0Cc


3. Express the following in exponential form.

Watch Video Solution

5 × 5 × 7 × 7 × 7

4. Express the following in exponential form.

Watch Video Solution

6 × 6 × 6 × 6 × 6 × 6 × 6

5. Express the following in exponential form. 

Watch Video Solution

a × a × b × b × c × c × d

6. Express the following in exponential form. 

W t h Vid S l ti

512

https://dl.doubtnut.com/l/_bOM2V3ZLc0Cc
https://dl.doubtnut.com/l/_YvxXvppLBarT
https://dl.doubtnut.com/l/_gVwzPKVdNuFk
https://dl.doubtnut.com/l/_wPZo3G3fZvoS


Watch Video Solution

7. Express the following in exponential form.

Watch Video Solution

729

8. Express the following in exponential form.

1296

Watch Video Solution

9. Which number is greater  or  ?

Watch Video Solution

102 210

10. Simplify: 

Watch Video Solution

72 × 22

https://dl.doubtnut.com/l/_wPZo3G3fZvoS
https://dl.doubtnut.com/l/_cA2QSyRGvWuT
https://dl.doubtnut.com/l/_EJBbIvHVBVt3
https://dl.doubtnut.com/l/_nBj3OwVUaux5
https://dl.doubtnut.com/l/_uWyLa78h4HXt


Watch Video Solution

11. Simplify: 

Watch Video Solution

( − 3)2 × 104

12. Simplify: 

Watch Video Solution

( − 4) × ( − 2)4

13. Simplify: 

Watch Video Solution

( − 5)2 × ( − 3)3

14. Simplify and write the answer in exponential 

Watch Video Solution

( ) × 3537

36

https://dl.doubtnut.com/l/_uWyLa78h4HXt
https://dl.doubtnut.com/l/_nidG4w6EqSKX
https://dl.doubtnut.com/l/_STu28VPVEQRZ
https://dl.doubtnut.com/l/_dPwM6VbYhq9C
https://dl.doubtnut.com/l/_YSLUEXksQo9u


15. Simplify and write the answer in exponential 

Watch Video Solution

[(23)
5

× 57] × 35

16. Simplify and write the answer in exponential 

Watch Video Solution

(32 × 34) ÷ 33

17. Simplify and write the answer in exponential 

Watch Video Solution

45 × a8b5

44 × a5b2

18. Simplify and write the answer in exponential 

W t h Vid S l ti

28 × a5

43 × a3

https://dl.doubtnut.com/l/_YSLUEXksQo9u
https://dl.doubtnut.com/l/_p7LgNASYMcSU
https://dl.doubtnut.com/l/_dBwnDcbhY8UU
https://dl.doubtnut.com/l/_czqwb6oTWMzg
https://dl.doubtnut.com/l/_R03EGfC4nMsT


Watch Video Solution

19. Simplify: 

Watch Video Solution

(30 + 20)50

20. Simplify: 

Watch Video Solution

(60 ÷ 70) × (80 − 70)

21. Express 2345789 in standard form.

Watch Video Solution

22. Express each of the following numbers in standard form. 

Watch Video Solution

3908.78

https://dl.doubtnut.com/l/_R03EGfC4nMsT
https://dl.doubtnut.com/l/_Zo48yTFperfu
https://dl.doubtnut.com/l/_5YPlwkuo1yhF
https://dl.doubtnut.com/l/_Eol1ZhvHr3yh
https://dl.doubtnut.com/l/_Z846rHI2xcMu


Solved Examples

23. Express each of the following numbers in standard form. 

Watch Video Solution

5000000

24. Express each of the following numbers in standard form. 

Watch Video Solution

31865000000

25. Express each of the following numbers in standard form. 

Watch Video Solution

3908178

https://dl.doubtnut.com/l/_ehaWJcUUgVNe
https://dl.doubtnut.com/l/_mlqHIYeVodWE
https://dl.doubtnut.com/l/_VqroneGgeOQS


1. Express each of the following numbers as a product of powers of their

prime factors.
432
(ii) 648
540

Watch Video Solution

2. Express each of the following as product of powers of their prime

factors:
(i) 648
(ii) 405 (iii)
540 (iv) 3,600

Watch Video Solution

3. Express each of the following as product of powers of their prime

factors:
(i) 648
(ii) 405 (iii)
540 (iv) 3,600

Watch Video Solution

4. Exprtess the following as the power of a rational number. 

16

81

https://dl.doubtnut.com/l/_rUb0VewuF7sT
https://dl.doubtnut.com/l/_hKFZ9ZJ6Qaue
https://dl.doubtnut.com/l/_UYy0jc4jQa1e
https://dl.doubtnut.com/l/_t6jwO9UqyGnZ


Watch Video Solution

5. Express the following as the power of a rational number. 

Watch Video Solution

−32

3125

6. Find the product of cube of  and fourth power of .

Watch Video Solution

( )
−3

5

2

−3

7. Find the value of 'a' if .

Watch Video Solution

[( − 3)
3]

5

= ( − 3)
3a

8. Find the value of p, if .

Watch Video Solution

52p+ 1 ÷ 25 = 125

https://dl.doubtnut.com/l/_t6jwO9UqyGnZ
https://dl.doubtnut.com/l/_L4T2esoem0W9
https://dl.doubtnut.com/l/_Jz8tH7ILziUe
https://dl.doubtnut.com/l/_Ccq97BqhMJ9C
https://dl.doubtnut.com/l/_YRHuWAWDXJZp


9. Find the value of p in the following: 

Watch Video Solution

( )
3

÷ ( )
3

= 3p
15

9

5

9

10. Find the value of p in the following: 

Watch Video Solution

( )
3

÷ ( )
3

= ( − 1)3p4

3

−4

3

11. Simplify : 

Watch Video Solution

−
( − )

8
1

2

( − )
5

1
2

( − )
5

1

2

( − )
3

1
2

https://dl.doubtnut.com/l/_YRHuWAWDXJZp
https://dl.doubtnut.com/l/_cwOaPNNd0AM6
https://dl.doubtnut.com/l/_bQp9Yigbh9RF
https://dl.doubtnut.com/l/_zByEQym7aoPm


12. Simplify : 

Watch Video Solution

[ × ( )
3

] ÷ ( )
2125

27

9

25

3

5

13. Express  as a whole number.

Watch Video Solution

6.022 × 103

14. Following are the distances between: 

sun and saturn -  

saturn and uranus -  m 

sun and earth -  m 

which of the three distances is the least ?

Watch Video Solution

1433500000000m

1439000000000

149600000000

https://dl.doubtnut.com/l/_fiYFY6d4P0nd
https://dl.doubtnut.com/l/_WhLqz0V4R5cS
https://dl.doubtnut.com/l/_ii4vxcyrBcmp


15. A teacher asked the students to write , but they wrote 3562.

what is the numerical difference between the two ?

Watch Video Solution

35 × 62

16. If  and , then find the value of 


.

Watch Video Solution

a = 2 b = 3

[ + ]
1

ab

1

ba

17. If  is equal to , then find k.

Watch Video Solution

93 × 272 × 812 32k

18. If , find the value of x.

Watch Video Solution

=
52

x

169

144

https://dl.doubtnut.com/l/_Bts1LHIwA1f2
https://dl.doubtnut.com/l/_7gRaTqhJ6znj
https://dl.doubtnut.com/l/_ttRmXjE9zJIj
https://dl.doubtnut.com/l/_l9mPpKkkvfha
https://dl.doubtnut.com/l/_p5VaesKPOTbA


Ncert Section Exercise 12 1

19. Evaluate : 

Watch Video Solution

× ×
625

11

14

25

11

196

1. Find the value of : 

Watch Video Solution

26

2. Find the value of : 

Watch Video Solution

93

3. Find the value of:
(i) 

Watch Video Solution

https://dl.doubtnut.com/l/_p5VaesKPOTbA
https://dl.doubtnut.com/l/_8lNzsKFUCtE8
https://dl.doubtnut.com/l/_38wokaZyCiZJ
https://dl.doubtnut.com/l/_XUhkDtMgMg9e


4. Find the value of 

Watch Video Solution

54

5. Express the following in exponential form:
 (i)

6{\rm{ }} \times {\rm{ }}6{\rm{ }} \times {\rm{
}}6{\rm{ }} \times {\rm{ }}6

Watch Video Solution

6. Express the following in exponential form : 

Watch Video Solution

t × t

7. Express the following in exponential form:
 (i)

6{\rm{ }} \times {\rm{ }}6{\rm{ }} \times {\rm{
}}6{\rm{ }} \times {\rm{ }}6

Watch Video Solution

https://dl.doubtnut.com/l/_OsPWzrEhpyFa
https://dl.doubtnut.com/l/_1rgpqsJlcYPR
https://dl.doubtnut.com/l/_ZDJVCYEzrxkV
https://dl.doubtnut.com/l/_yoOwIQKvJL2A
https://dl.doubtnut.com/l/_79V9bs0WujA4


8. Express the following in exponential form : 

Watch Video Solution

5 × 5 × 7 × 7 × 7

9. Express the following in exponential form:
 (i)

6{\rm{ }} \times {\rm{ }}6{\rm{ }} \times {\rm{
}}6{\rm{ }} \times {\rm{ }}6

Watch Video Solution

10. Express the following in exponential form : 

Watch Video Solution

a × a × a × c × c × c × c × d

11. Express the following numbers using exponential notation : 

512

Watch Video Solution

https://dl.doubtnut.com/l/_79V9bs0WujA4
https://dl.doubtnut.com/l/_VjodWv9jZFiD
https://dl.doubtnut.com/l/_NxzvypIxdAZx
https://dl.doubtnut.com/l/_Kvo2PZUHZJRG


12. Express each of the following numbers using exponential notation:
 (i)

512
(ii) 343 (iii)
729 (iv) 3125

Watch Video Solution

13. Express each of the following numbers using exponential notation:
 (i)

512
(ii) 343 (iii)
729 (iv) 3125

Watch Video Solution

14. Express each of the following numbers using exponential notation:
 (i)

512
(ii) 343 (iii)
729 (iv) 3125

Watch Video Solution

https://dl.doubtnut.com/l/_Kvo2PZUHZJRG
https://dl.doubtnut.com/l/_y6ETHJj1GUi9
https://dl.doubtnut.com/l/_TfwmrtW0KXMi
https://dl.doubtnut.com/l/_A4Ma7njkMOPs


15. Identify the greater number, wherever possible, in each of the following ?

(i)  

(ii)  


(iii)  


(iv) 

Watch Video Solution

43 or 34

53 or 35

28 or 82

1002 or 2100

16. Identify the greater number, wherever possible, in each of the
following?

(i) 

Watch Video Solution

17. Identify the greater number in each of the following:
 
 (ii) 

Watch Video Solution

53  or  35

28  or  82

https://dl.doubtnut.com/l/_c2HFmLOU8y43
https://dl.doubtnut.com/l/_F5dy6hqzTpyg
https://dl.doubtnut.com/l/_6ZAOGY7E7Imk
https://dl.doubtnut.com/l/_jFsknDxsgHYc


18. Identify the greater number, wherever possible, in each of the
following?

(i) 

Watch Video Solution

19. Identify the greater number in each of the following:
 
 (ii) 

Watch Video Solution

210  or  102

2100 or  1002

20. Express each of the following as product of powers of their prime

factors:
(i) 648
(ii) 405 (iii)
540 (iv) 3,600

Watch Video Solution

21. Express each of the following as product of powers of their prime

factors:
(i) 648
(ii) 405 (iii)
540 (iv) 3,600

Watch Video Solution

https://dl.doubtnut.com/l/_jFsknDxsgHYc
https://dl.doubtnut.com/l/_XIuuMAxmUEO7
https://dl.doubtnut.com/l/_N32ZGb0my0it
https://dl.doubtnut.com/l/_oBrhyEcEYTmi


22. Express each of the following as product of powers of their prime

factors:
(i) 648
(ii) 405 (iii)
540 (iv) 3,600

Watch Video Solution

23. Express each of the following as product of powers of their prime

factors:
(i) 648
(ii) 405 (iii)
540 (iv) 3,600

Watch Video Solution

24. Simplify:
 
(ii) 

Watch Video Solution

2 × 103 72 × 22

25. Simplify : 

Watch Video Solution

72 × 22

https://dl.doubtnut.com/l/_oBrhyEcEYTmi
https://dl.doubtnut.com/l/_MBlsX6cLqYTJ
https://dl.doubtnut.com/l/_65PTzSL3Id1u
https://dl.doubtnut.com/l/_EvjMLQCeyVjb
https://dl.doubtnut.com/l/_8avJ7L1M7HLj


26. Simplify:
 
(ii) 

Watch Video Solution

23 × 5 0 × 102

27. Simplify : 

Watch Video Solution

3 × 44

28. Simplify : 

Watch Video Solution

0 × 102

29. Simplify:
 
(ii) 

Watch Video Solution

52 × 33 24 × 32

https://dl.doubtnut.com/l/_8avJ7L1M7HLj
https://dl.doubtnut.com/l/_5Nv0Gl963hS7
https://dl.doubtnut.com/l/_CZSzov9GuLJB
https://dl.doubtnut.com/l/_uA780mlC19gq
https://dl.doubtnut.com/l/_PV1cv1USTu91


30. Simplify : 

Watch Video Solution

24 × 32

31. Simplify:
 
(ii) 

Watch Video Solution

32 × 104 53 × 24

32. Simplify : 

Watch Video Solution

( − 4)3

33. Simplify:
 
(ii) 

Watch Video Solution

( − 3) × ( − 2)3 ( − 3)2 × ( − 5)2

34. Simplify : ( − 3)2 × ( − 5)2

https://dl.doubtnut.com/l/_JG2tbWltmJPV
https://dl.doubtnut.com/l/_KbNArVEv5TTr
https://dl.doubtnut.com/l/_lexbJmF9Fpxh
https://dl.doubtnut.com/l/_niooxRzeWkYK
https://dl.doubtnut.com/l/_du3Lgu5XgQsn


Ncert Section Exercise 12 2

Watch Video Solution

35. Simplify : 

Watch Video Solution

( − 2)3 × ( − 10)3

36. Compare the following numbers: 

Watch Video Solution

2.7 × 1010, 1.5 × 108

37. Compare the following numbers:
 (i)

2.7{\rm{ }} \times {\rm{ }}{10^{12}};{\rm{ }}1.5{\rm{ }} \times
{\rm{ }}{10^8}

Watch Video Solution

https://dl.doubtnut.com/l/_du3Lgu5XgQsn
https://dl.doubtnut.com/l/_cYcCYQpKUoJ7
https://dl.doubtnut.com/l/_fpP7urY9VvOB
https://dl.doubtnut.com/l/_C4XjsrR1xaSb


1. Using laws of exponents, simplify and write the answer in exponential

form:
(i) {3^2} \times {\rm{ }}{3^4} \times {\rm{ }}{3^8}

Watch Video Solution

2. Using laws of exponents, simplify and write the answer in exponential

from:
 
(ii) 

Watch Video Solution

615 ÷ 610 (53)
2

3. Using laws of exponents, simplify and write the answer in exponential

form: 

Watch Video Solution

a3 × a2

4. Simplify and write the answer in exponential form: 

Watch Video Solution

7x × 72

https://dl.doubtnut.com/l/_HwLMBOTXDSNM
https://dl.doubtnut.com/l/_xKUSW3Vlfhqx
https://dl.doubtnut.com/l/_52bBcbcHqu4E
https://dl.doubtnut.com/l/_GnoLS1eYYYDF


5. Using laws of exponents, simplify and write the answer in exponential

form: 

Watch Video Solution

(52)
3

÷ 53

6. Using laws of exponents, simplify and write the answer in exponential

form: 

Watch Video Solution

25 × 55

7. Using laws of exponents, simplify and write the answer in exponential

form: 

Watch Video Solution

a4 × b4

https://dl.doubtnut.com/l/_GnoLS1eYYYDF
https://dl.doubtnut.com/l/_05g1nP3l9X1z
https://dl.doubtnut.com/l/_OchP1Hono9cp
https://dl.doubtnut.com/l/_3maTKkmiJPpj


8. Using laws of exponents, simplify and write the answer in exponential

form: 

Watch Video Solution

(34)
3

9. Using laws of exponents, simplify and write the answer in exponential

from:
 
(ii) 

Watch Video Solution

a4 × b4 (220 ÷ 215) × 23

10. Using laws of exponents, simplify and write the answer in exponential

form: 

Watch Video Solution

(8t ÷ 82)

https://dl.doubtnut.com/l/_ldU3BBoiYMOJ
https://dl.doubtnut.com/l/_jJtjFGaJjokI
https://dl.doubtnut.com/l/_DpN53u1IrelO


11. Simplify and express each of the following in exponential form: 

Watch Video Solution

23 × 34 × 4

3 × 32

12. Simplify and express each of the following in exponential form: 

Watch Video Solution

[(52)
3

× 54] ÷ 57

13. Simplify and express each of the following in exponential form: 

Watch Video Solution

254 ÷ 53

14. Simplify and express each of the following in exponential form: 

3 × 72 × 118

21 × 113

https://dl.doubtnut.com/l/_fs2LsVkGHqeX
https://dl.doubtnut.com/l/_hgaxGBfQD6kD
https://dl.doubtnut.com/l/_X8PshjYjBpVt
https://dl.doubtnut.com/l/_sV67aJ39cA4S


Watch Video Solution

15. Simplify and express each of the following in exponential form: 

Watch Video Solution

37

34 × 33

16. Simplify and express each of the following in exponential form: 

Watch Video Solution

20 + 30 + 40

17. Simplify and express each of the following in exponential form: 

Watch Video Solution

20 × 30 × 40

https://dl.doubtnut.com/l/_sV67aJ39cA4S
https://dl.doubtnut.com/l/_Q7NZ0IuNcxdn
https://dl.doubtnut.com/l/_CoNe25MW9Pkk
https://dl.doubtnut.com/l/_ETGW3eV7xHos


18. Simplify and express each of the following in exponential form: 

Watch Video Solution

(30 + 20) × 50

19. Simplify and express each of the following in exponential form: 

Watch Video Solution

28 × a5

43 × a3

20. Simplify and express each of the following in exponential form: 

Watch Video Solution

( ) × a8a5

a3

21. Simplify and express each of the following in exponential form: 

45 × a8b3

45 × a5b2

https://dl.doubtnut.com/l/_clu8NkjHPGgZ
https://dl.doubtnut.com/l/_tDhUPCXwUZDp
https://dl.doubtnut.com/l/_uYWyVUiABxa6
https://dl.doubtnut.com/l/_MOIbfRPPCapb


Watch Video Solution

22. Simplify and express each of the following in exponential form: 

Watch Video Solution

(23 × 2)
2

23. Say true or false and justify your answer: 

Watch Video Solution

10 × 1011 = 10011

24. Say true or false and justify your answer: 

Watch Video Solution

23 > 52

https://dl.doubtnut.com/l/_MOIbfRPPCapb
https://dl.doubtnut.com/l/_EJYdNSJgJEwp
https://dl.doubtnut.com/l/_GHpgKZ2RVSX2
https://dl.doubtnut.com/l/_7XKIgmMLA7pW


25. Say true or false and justify your answer: 

Watch Video Solution

23 × 32 = 65

26. Say true or false and justify your answer: 

Watch Video Solution

30 = (1000)0

27. Express each of the following as a product of prime factors only in

exponential form: 

Watch Video Solution

108 × 192

https://dl.doubtnut.com/l/_kLn6Ls9gXTbw
https://dl.doubtnut.com/l/_JdEJevCgwnBH
https://dl.doubtnut.com/l/_fAVQDFSM0drK


28. Express each of the following as a product of prime factors only in

exponential form: 

270

Watch Video Solution

29. Express each of the following as a product of prime factors only in

exponential form: 

Watch Video Solution

729 × 64

30. Express each of the following as a product of prime factors only in

exponential form: 

768

https://dl.doubtnut.com/l/_2HmwelnnMB7d
https://dl.doubtnut.com/l/_e1CHuk6sEhul
https://dl.doubtnut.com/l/_MTbHFSXQ4zPp


Ncert Section Exercise 12 3

Watch Video Solution

31. Simplify: 

Watch Video Solution

(25)
2

× 73

83 × 7

32. Simplify:
 (i)

\frac{{{{\left( {{2^5}} \right)}^2} \times {7^3}}}{{{8^3} \times
7}}

Watch Video Solution

33. 

Watch Video Solution

35 × 105 × 25

57 × 65

https://dl.doubtnut.com/l/_MTbHFSXQ4zPp
https://dl.doubtnut.com/l/_7zahiOe7qcJ5
https://dl.doubtnut.com/l/_m2EZcIbaWE2u
https://dl.doubtnut.com/l/_JhMJaN8oYoBw
https://dl.doubtnut.com/l/_JMCgnvy4yaPa


1. Write the following number in the expanded forms : 

Watch Video Solution

279404, 3006194, 2806196, 120719, 20068

2. Find the number from each of the following expanded forms: 

Watch Video Solution

8 × 104 + 6 × 103 + 0 × 102 + 4 × 101 + 5 × 100

3. Find the number from each of the following expanded forms:
 (a)

8{\rm{ }} \times {10^4} + {\rm{ }}6{\rm{ }} \times {10^3} + {\rm{
 }}0 \times

{10^2} + {\rm{ }}4 \times {10^1} + {\rm{ }}5 \times {10^0}

Watch Video Solution

4. Find the number from each of the following expanded forms: 

3 × 104 + 7 × 102 + 5 × 100

https://dl.doubtnut.com/l/_JMCgnvy4yaPa
https://dl.doubtnut.com/l/_HOVHEWfhIIbm
https://dl.doubtnut.com/l/_05oxsin01W4O
https://dl.doubtnut.com/l/_aRxblB5gWrej


Watch Video Solution

5. Find the number from each of the following expanded forms: 

Watch Video Solution

9 × 105 + 2 × 102 + 3 × 101

6. Express the following numbers in standard form:

(i) 5,00,00,000 

(ii) 70,00,000 

(iii) 3,18,65,00,000

(iv) 3,90,878 

(v) 39087.8 

(vi) 3908.78

Watch Video Solution

https://dl.doubtnut.com/l/_aRxblB5gWrej
https://dl.doubtnut.com/l/_mBuvEmZqcoIz
https://dl.doubtnut.com/l/_1NUyro3DN10V


7. Express the following numbers in standard form:
 (i) 5,00,00,000 (ii)

70,00,000 (iii) 3,18,65,00,000
(iv) 3,90,878 (v) 39087.8 (vi) 3908.78

Watch Video Solution

8. Express the following numbers in the standard form:
 3,18,65,00,000 (ii)




Watch Video Solution

846 × 107 723 × 109

9. Express the following number in standard form: 

Watch Video Solution

3, 90, 878

10. Express the following number in standard form: 

39087.8

https://dl.doubtnut.com/l/_igMZZG6rbpN9
https://dl.doubtnut.com/l/_x0NphfoOqANx
https://dl.doubtnut.com/l/_ydk5XoZ8K5Dx
https://dl.doubtnut.com/l/_YTFVx3CKoPM9


Watch Video Solution

11. Express the following number in standard form: 

Watch Video Solution

3908.78

12. Express the number apperaring in the following statements in standard

form. 

The distance between Earth and Moon is  m.

Watch Video Solution

384, 000, 000

13. Express the number apperaring in the following statements in standard

form. 

Speed of light in vacuum is .

Watch Video Solution

3000, 000, 00m/s

https://dl.doubtnut.com/l/_YTFVx3CKoPM9
https://dl.doubtnut.com/l/_JX0cm4Z6HkB8
https://dl.doubtnut.com/l/_9QjZlW78YKGa
https://dl.doubtnut.com/l/_gN4XEtNsFdH0


14. Express the number apperaring in the following statements in standard

form. 

Diameter of the Earth is  m.

Watch Video Solution

1, 27, 56, 00

15. Express the number apperaring in the following statements in standard

form. 

Diameter of the sun is  m.

Watch Video Solution

1, 400, 000, 000

16. Express the number apperaring in the following statements in standard

form. 

In a galaxy there are on an average  stars.

Watch Video Solution

100, 000, 000, 000

https://dl.doubtnut.com/l/_ui6nZLanL2il
https://dl.doubtnut.com/l/_9h1VaKSfmBcY
https://dl.doubtnut.com/l/_ohh4VZQxOf3a
https://dl.doubtnut.com/l/_QXoyETuXG6hM


17. Express the number apperaring in the following statements in standard

form. 

The universe is estimated to be about  years old.

Watch Video Solution

12, 000, 000, 000

18. Express the number apperaring in the following statements in standard

form. 

The distance of the sun from the centre of the milky way galaxy is estimated

to be  m

Watch Video Solution

300, 000, 000, 000, 000, 000, 000

19. Express the number apperaring in the following statements in standard

form. 

 molecules are contained in a drop of

water weighting .

Watch Video Solution

60, 230, 000, 000, 000, 000, 000, 000

1.8gm

https://dl.doubtnut.com/l/_QXoyETuXG6hM
https://dl.doubtnut.com/l/_6bdwJBFsZLbW
https://dl.doubtnut.com/l/_3fYGQtaI5Ps6


Exercise Multiple Choice Question Level I

20. Express the number apperaring in the following statements in standard

form. 

The earth has  cubic km of sea water.

Watch Video Solution

1, 353, 000, 000

21. Express the number apperaring in the following statements in standard

form. 

The population of india was about  in march, 2001.

Watch Video Solution

1, 027, 000, 000

1. If 
then find the value of 

A. 

2x− 1 + 2x+ 1 = 1280, x

8

https://dl.doubtnut.com/l/_3fYGQtaI5Ps6
https://dl.doubtnut.com/l/_BJ0tUgqsNr5P
https://dl.doubtnut.com/l/_SCTf8ygriFvR
https://dl.doubtnut.com/l/_Av3wwhtOsHWE


B. 

C. 

D. 

Answer: B

Watch Video Solution

9

10

6

2. Find the value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

43 +
1

43

4043

64

2049

64

4097

64

2093

64

https://dl.doubtnut.com/l/_Av3wwhtOsHWE
https://dl.doubtnut.com/l/_T5hbKTDbjpE9
https://dl.doubtnut.com/l/_7SkJWJeopbCm


3. Find the value of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[(10)
150

÷ (10)
146]

1000

10000

100000

106

4. ?

A. 

B. 

C. 

D. 

(2.4 × 103) ÷ (8 × 102) =

3 × 102

3

3 × 105

30

https://dl.doubtnut.com/l/_7SkJWJeopbCm
https://dl.doubtnut.com/l/_DfSXtSJwQhFU


Answer: B

Watch Video Solution

5. 

A. 10

B. 100

C. 1000

D. 10000

Answer: C

Watch Video Solution

(1000)7 ÷ 1018 = ?

6. If , then value of n is

A. 8

36 × 92 = 3n × 32

https://dl.doubtnut.com/l/_DfSXtSJwQhFU
https://dl.doubtnut.com/l/_rVM40p2ex99U
https://dl.doubtnut.com/l/_hDll2yAhp0nL


B. 12

C. 6

D. 5

Answer: A

Watch Video Solution

7. If , then the value of n is

A. 0

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

= 27
9n × 35 × (27)

3

3 × (81)
4

https://dl.doubtnut.com/l/_hDll2yAhp0nL
https://dl.doubtnut.com/l/_ZNyEHfyxvpCb


8. If 
, then thevalue of 
is 
b. 
c. 
d. 

A. 25

B. 125

C. 625

D. 1625

Answer: A

Watch Video Solution

5a = 3125 5 ( a− 3 ) 25 125 625 1625

9. If , then the value of x is

A. 

B. 

C. 

D. 

( ÷ ) ÷ x = 1
1

( − 7)3

1

78

−57

57

−75

75

https://dl.doubtnut.com/l/_R0rPnfBxTgxq
https://dl.doubtnut.com/l/_I7gEmc5789Aa


Answer: C

Watch Video Solution

10. If 
then the value of 
is
 
b. 
c. 
d. 

A. 3

B. 2

C. 0

D. 

Answer: B

Watch Video Solution

22n− 1 = ,
1

8n− 3
n −2 2 0 3

−2

11. ?

A. 

=
45 × 35

(12)
5

× 92

32 × 25

https://dl.doubtnut.com/l/_I7gEmc5789Aa
https://dl.doubtnut.com/l/_wFSgwvC0zUWQ
https://dl.doubtnut.com/l/_dvbIjDk02vrg


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

34

12

1

43

12. Assuming that 
 is a positive real number and 
 are rational

numbers, show that:


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x a,  b,  c

( )
a

 ( )
b

 ( )
c

= 1
xb

xc

xc

xa

xa

xb

xabc

1

xab+ bc+ ca

xa+ b+ c

https://dl.doubtnut.com/l/_dvbIjDk02vrg
https://dl.doubtnut.com/l/_cxBLkLM4lhE1


13. Differentiate  with respect to x.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( )
a+ b

⋅ ( )
b+ c

⋅ ( )
c+a

xa

xb

xb

xc

xc

xa

0

xabc

xa+ b+ c

1

14. The value of 
is
 
b. 
c. 
d. none

of these

A. 

B. 

C. 

(8− 25 − 8− 26) 7 × 8− 25 7 × 8− 26 8 × 8− 26

7

825

7

826

8

826

https://dl.doubtnut.com/l/_cxBLkLM4lhE1
https://dl.doubtnut.com/l/_M3l02s0NO81z
https://dl.doubtnut.com/l/_dHUbRI9Bmeva


D. 

Answer: B

Watch Video Solution

8

825

15. 
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

49 × 49 × 49 × 49 = 7? 4 7 8 16

4

7

8

16

https://dl.doubtnut.com/l/_dHUbRI9Bmeva
https://dl.doubtnut.com/l/_17TgBJbP46dR


16. Number of prime factors is 
 is
 
 b. 
 c. 
 d.

none of these

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

612 × (35)
28

× (15)
16

(14)
14

× (21)
21

56 66 112

26 × 316 × 512

317 × 516 × 75

26 × 516 × 712

27 × 317 × 75

17. If 
then the value of 
is
 
b. 
c. 
d. 

A. 

B. 

C. 

5 ( x+ 3 ) = 25 ( 3x− 4 ) , x
5

11

11

5

11

3

13

5

5

11

11

5

11

3

https://dl.doubtnut.com/l/_QPTGGnUobI9A
https://dl.doubtnut.com/l/_mGReonGJ8xhO


D. 

Answer: B

Watch Video Solution

13

5

18. If 
then 
is equal to
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2n− 1 + 2n+ 1 = 3, n 0 2 −2 −1

0

2

−1

−2

19. If , then the value of  is3x − 3x− 1 = 18 xx

https://dl.doubtnut.com/l/_mGReonGJ8xhO
https://dl.doubtnut.com/l/_dHXuHCTvsPpV
https://dl.doubtnut.com/l/_g9c0TEqoaFNh


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

8

27

216

20. By what number should  be divided so that the quotient is 

?

A. 

B. 

C. 

D. 

Answer: A

( )
3

2

3

( )
2

4

27

27

2

9

2

2

27

2

9

https://dl.doubtnut.com/l/_g9c0TEqoaFNh
https://dl.doubtnut.com/l/_6PjCkHsaChlP


Watch Video Solution

21. By what number should  be multiplied so that the product is  ?

A. 

B. (25)/(21)`

C. (25)/(7)`

D. 

Answer: B

Watch Video Solution

( )
2

3

5

3

7

25

9

25

3

22. Find the value of x so that .

A. 

B. 

52x × 53 = 56

3

2

2

3

https://dl.doubtnut.com/l/_6PjCkHsaChlP
https://dl.doubtnut.com/l/_QULUSCMTdGey
https://dl.doubtnut.com/l/_7gsQ5rFIpGrJ


C. 

D. 

Answer: A

Watch Video Solution

3

6

23. Find the value of x, if .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= 64
2x− 1 ⋅ 42x+ 1

8x− 1

1

2

3

4

https://dl.doubtnut.com/l/_7gsQ5rFIpGrJ
https://dl.doubtnut.com/l/_cDJgphTNj2Bp


24. If , then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

800 × (x3)
2

= 8 × 108

6

4

3

10

25. Express  in standard form.

A. 

B. 

C. 

D. 

32 × 10000000

3.2 × 107

32 × 108

3.2 × 108

32 × 107

https://dl.doubtnut.com/l/_SkuqKstgtvTl
https://dl.doubtnut.com/l/_zSnyRBHLQmZ0


Answer: C

Watch Video Solution

26. Usual form of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−4.8 × 108

−4, 80, 00, 00, 000

−48, 00, 00, 000

−0.000000048

−480

27. Simplify : 

A. 

716 × 75 × ( )
11

1

7

732

https://dl.doubtnut.com/l/_zSnyRBHLQmZ0
https://dl.doubtnut.com/l/_tG0Bx8yvgVz8
https://dl.doubtnut.com/l/_Qooh9lOM8Ge7


B. 

C. 

D. 

Answer: B

Watch Video Solution

710

721

716

28. If , then find the value of m.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[59 × 53] ÷ [515 ÷ 53] = 5m

24

−6

0

12

https://dl.doubtnut.com/l/_Qooh9lOM8Ge7
https://dl.doubtnut.com/l/_Vmtrj8zvQszU
https://dl.doubtnut.com/l/_IqU5986te5oW


29. If , then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= ( )
3

÷ ( )
2

x

y

2

3

3

2
( )

3
x

y

( )
− 32

3

( )
152

3

( )
32

3

1

30. Find the value of .

A. 

B. 

C. 

D. 

⎡

⎣
{( )

2

}

0
⎤

⎦

7

−3

8

0

1

( )
14−3

8

( )
9−3

8

https://dl.doubtnut.com/l/_IqU5986te5oW
https://dl.doubtnut.com/l/_QYpytz7st3pG


Answer: B

Watch Video Solution

31. Find the value of .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30 × 40 + 20 × 30

160

0

1

2

1

2

32. Find 'a' such that .

A. 

( )
a

× ( )
3a

=
6

7

6

7

1296

2401

4

https://dl.doubtnut.com/l/_QYpytz7st3pG
https://dl.doubtnut.com/l/_4lRTIWQCSDj9
https://dl.doubtnut.com/l/_kad6qaaOWsIx


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

0

5

33. Find the value of t, if .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= 7t
90 × 50 × 70

( − 1)23 × ( − 1)5

1

0

28

72

https://dl.doubtnut.com/l/_kad6qaaOWsIx
https://dl.doubtnut.com/l/_nDh7Tmt9KIHt


34. If , find the value of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = ( )
4

÷ ( )
22

3

2

3
x5

( )
11

2

3

( )
102

3

( )
72

3

1

35. What is the value of x, if ?

A. 

B. 

C. 

D. 

64 × (512)2 = x8

5

7

2

8

https://dl.doubtnut.com/l/_Zwmi79aDSj1b
https://dl.doubtnut.com/l/_AuhOXAtTyEuc


Exercise Multiple Choice Question Level Ii

Answer: D

Watch Video Solution

1. Simplify : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( )
4

× ( )
3

× ( )
2

xa

xb

xb

xc

xc

xa

0

x

1

x2a− b− c

https://dl.doubtnut.com/l/_AuhOXAtTyEuc
https://dl.doubtnut.com/l/_15SiL6sz4gpn


2. Find the value of .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3n × 32n+ 1

9n × 3n− 1

8

1

27

9

3. 
 is equal to
 
 b. 
 c. 


d. 

A. 

B. 

C. 

+ 2− 32n+ 4 − 2 × 2−n

2 × 2 ( n+ 3 )
2n+ 1 ( − 2n)

9

8

( − 2n+ 1 + )
1

8
1

2n+ 1

( − 2n)
9

8

1/8

https://dl.doubtnut.com/l/_D8t1ffFMYD6J
https://dl.doubtnut.com/l/_UIdZwoeSPKtA


D. 

Answer: D

Watch Video Solution

1

4. There are three places, A, B, C in a straight line as shown below. If distance

between place A and B is  m and distance between B and C is 

 m, then find the distance between place A and C in standard form.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2.4 × 106

5.2 × 105

292 × 106km

2.92 × 106m

292 × 104km

2.92 × 104m

https://dl.doubtnut.com/l/_UIdZwoeSPKtA
https://dl.doubtnut.com/l/_oNyaDDvE4jN2


Watch Video Solution

5. Length and width of a rectangular garden are 10200 m and 42000 m

respectively. Find the perimeter of garden in standard form.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

288 × 105km

288 × 103km

2.88 × 103m

2.88 × 105m

6. which of the following is not equal to ?

A. 

B. 

( )
4−3

4

( − 3)
4

44

34

( − 4)4

https://dl.doubtnut.com/l/_oNyaDDvE4jN2
https://dl.doubtnut.com/l/_t058IIcXR5TA
https://dl.doubtnut.com/l/_I5zESTz2ny3J


C. 

D. 

Answer: C

Watch Video Solution

−( )
33

44

( )
2

× ( )
2

−3

4

−3

4

7. Which of the following is incorrect ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

32 × 42 > 23 × 24

72 < 27

(285)0 < ( − 3)2

( − 1)27 > ( − 1)14

https://dl.doubtnut.com/l/_I5zESTz2ny3J
https://dl.doubtnut.com/l/_lVa1gUPYmjmZ


8. Which of the following is in the standard form ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5.5 × 103

0.05 × 103

5500

550 × 102

9. Find m, if 

A. 

B. 

C. 

D. 

( )
9

÷ ( )
5

= ( )
3

7

3

7

3

7

3m+ 2

m− 2

4

10

−4

15

https://dl.doubtnut.com/l/_UGTeky0l4ewu
https://dl.doubtnut.com/l/_toFtYZquA0BW


Answer: B

Watch Video Solution

10. The product of exponential form of prime factors of 1125 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 3)2 × 53

32 × ( − 5)2

( − 3)2 × ( − 5)3

3 × 3 × ( − 5) × ( − 5)

11. Find the value of m, if 

A. 

=
(90 + 70) × (9 + 7)

50 + 30 + 90 + 70

25m+ 4

(22)
2m+ 1

1

https://dl.doubtnut.com/l/_toFtYZquA0BW
https://dl.doubtnut.com/l/_34aZJscXkLeN
https://dl.doubtnut.com/l/_9ZzcmzEivNeu


B. 

C. 

D. 

Answer: A

Watch Video Solution

4

3

−5

12. Find the value of , if .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3x)215
x = − 1/3

1

−1

215

645

https://dl.doubtnut.com/l/_9ZzcmzEivNeu
https://dl.doubtnut.com/l/_QT8oxjBEtuZ1
https://dl.doubtnut.com/l/_jvtDADxoTRmg


13.  is divisible by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

318 + 315

31

13

28

33

14. The value of x, if , is

A. 

B. 

C. 

D. None of these

5x + 5x + 5x = 1875

5

4

6

https://dl.doubtnut.com/l/_jvtDADxoTRmg
https://dl.doubtnut.com/l/_5lgF7nWPh6lb


Exercise Matching

Answer: B

Watch Video Solution

15. If , then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

mn ⋅ nm = 5184 m + n

5

7

4

8

https://dl.doubtnut.com/l/_5lgF7nWPh6lb
https://dl.doubtnut.com/l/_ET7JmllYNKtt


1. Match the following : 

A. P-1, Q-2, R-4, S-3

B. P-4, Q-3, R-1, S-2

C. P-2, Q-4, R-3, S-1

D. P-2, Q-3, R-4, S-1

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TucURL55pV4H


2. Match the following : 

A. P-4, Q-2, R-1, S-3

B. P-3, Q-1, R-4, S-2

C. P-3, Q-2, R-4, S-1

D. P-4, Q-1, R-2, S-3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_FRnWs6a3CUBt


Exercise Assertion And Reason Type

1. Evaluate: 

Watch Video Solution

(10 + 20 + 30) × (100) + 60( )
30 − 40

50

2. Evaluate: 

Watch Video Solution

43 × 216

(24)2 × 62

3. Find x if, 

Watch Video Solution

( − 2)
19

÷ ( )
8

= ( − 2)
2x+ 1−1

2

4. Evaluate: 

Watch Video Solution

(12 + 22 + 32) × ( )
2

+ ( )
22

3

1

4

https://dl.doubtnut.com/l/_gf8EVD4Q6AMB
https://dl.doubtnut.com/l/_CjDFKsMThxpx
https://dl.doubtnut.com/l/_WzfjxkhD2ZMx
https://dl.doubtnut.com/l/_5Jge7o90jiso


Exercise Comprehension Type Passage I

5. Assertion:

Reason : Any number a can be written as,  in standard from,

where m lies between 1 and 10 (including 1) and n is any integer.

A. If both assertion and reason are true and reason is the corret

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: B

Watch Video Solution

( ) × ( ) × ( ) × ( ) × ( ) × ( ) × (
−10

3

−10

3

−10

3

−10

3

−10

3

−10

3

−

3

a = m × 10n

https://dl.doubtnut.com/l/_SCVKutGODvqE


1. Express in standard form: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

600, 000, 000, 000, 000, 000, 000

60 × 1020

6 × 1020

6 × 1021

6 × 1018

2. Express in standard form : 150, 000, 000, 000

A. 

B. 

C. 

D. 

1.5 × 1011

15 × 1011

15 × 109

150 × 108

https://dl.doubtnut.com/l/_8oDnBN7iKaL6
https://dl.doubtnut.com/l/_2cE8xzTilIgx


Exercise Comprehension Type Passage Ii

Answer: A

Watch Video Solution

3. Express the number in standard form 1, 353,000,000

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.3 × 108

1.353 × 107

1.353 × 108

1.353 × 109

1. Simplify : 
25 × 216 × 729

66 × 55 × 94

https://dl.doubtnut.com/l/_2cE8xzTilIgx
https://dl.doubtnut.com/l/_S56kK46W6DjS
https://dl.doubtnut.com/l/_xiifoWfL9uX3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

(30)7(9)8

1

(5)
6
(6)

9
(9)

7

1

(5)
2
(6)

3
(9)

3

1

(30)3 × 9

2. Simplify: 

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

(( )
2

× x8 × y7) ÷ (210 × ( )
4

× ( )
3

)
6

5

x

3

y

3

(xy)439

52 × 28

(xy)452 × 25

39

( )
4

(xy)43

10

x12y839

52 × 28

https://dl.doubtnut.com/l/_xiifoWfL9uX3
https://dl.doubtnut.com/l/_sqcJJkKatuYt


Exercise Very Short Answer Type

Watch Video Solution

3. Find the value of .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(23 + 33 + 43) ×
1

(24)6

1

(24)
3

( )
11

36

11

34 × 86

33

(24)
6

1. What is the product of the square of  and cube of  ?

Watch Video Solution

1

3

1

2

https://dl.doubtnut.com/l/_sqcJJkKatuYt
https://dl.doubtnut.com/l/_ZcgPaqcjNqf0
https://dl.doubtnut.com/l/_YMD5Zicmnr6r


2. What is the value of ?

Watch Video Solution

( )
2

2

3

3. What is the numerical coefficient of  in ?

Watch Video Solution

x5 (3x2) × ( − 4x3)

4. What is the value of ?

Watch Video Solution

(90 + 20) × (90 − 20)

5. If , then find .

Watch Video Solution

= ( )
2

+ ( )
0

x

y

2

5

2

5
( )

2
x

y

https://dl.doubtnut.com/l/_zPTvSqOE0wmb
https://dl.doubtnut.com/l/_gAQKzMiMJCdY
https://dl.doubtnut.com/l/_bQkw4o3MXVyy
https://dl.doubtnut.com/l/_IQk1NwoW1Re3


6. (i) The height of Mount Everest is  Write it in standard from. 


(ii) The speed of light is  Express it in standard from. 


(iii) The distance from the earth to the sun is  Write it in

standard from.

Watch Video Solution

8848m.

300000000m/sec.

149600000000m.

7. Simplify: 

Watch Video Solution

( − 6)2 ÷ ( − 6)2

8. What is the value of x, if ?

Watch Video Solution

( − )
4

× ( − 2)8 = ( − 2)4x1

2

9. What is the value of x, if ?

Watch Video Solution

54x = (625)6

https://dl.doubtnut.com/l/_is00s75ykfnV
https://dl.doubtnut.com/l/_7LjuLwoTJ9iy
https://dl.doubtnut.com/l/_wgeVvrDZeGk8
https://dl.doubtnut.com/l/_penJ4uRZnnGY


Exercise Short Answer Type

10. Simplify : 

Watch Video Solution

343 × 23 ÷ (14)3

1. Simplify : 

Watch Video Solution

(243)
3

× (243)
7

75 × (49)5 × (343)2

2. Simplify : 

Watch Video Solution

( )
7

÷ ( )
3

− 5

2

− 5

2

( )
4

÷ ( )
3

4
7

4
7

3. Simplify and express as the power 3, .(24 × 25 ÷ 29) × (729)2

https://dl.doubtnut.com/l/_penJ4uRZnnGY
https://dl.doubtnut.com/l/_kqAETkAApUg1
https://dl.doubtnut.com/l/_fSKybbguCB88
https://dl.doubtnut.com/l/_ELtfM9bUX6G7
https://dl.doubtnut.com/l/_OxeehfvtOqSJ


Watch Video Solution

4. What is the value of ?

Watch Video Solution

(4)4 + (2)4 + (3)4

(4)
2

+ (2)
2

+ (3)
2

5. Find x, if 

Watch Video Solution

( )
5 + 2x

× ( )
11 −x

= ( )
8x− 53

4

3

4

3

4

6. Find m, if 

Watch Video Solution

( )
6

÷ ( )
3

= ( )
2

9

2

9

2

9

m− 1

m+ 1

7. Simplify : .

Watch Video Solution

( )
5

× ( )
6

÷ ( )
33

5

3

5

3

5

https://dl.doubtnut.com/l/_OxeehfvtOqSJ
https://dl.doubtnut.com/l/_mScsc7AY1IWV
https://dl.doubtnut.com/l/_9f09WtdzXS4y
https://dl.doubtnut.com/l/_jRDIf7PoMRYl
https://dl.doubtnut.com/l/_Z6KUwTWQwndq


Exercise Long Answer Type

8. Simplify : 

Watch Video Solution

(216)3 × (2500)2 × (300)

9. Simplify : 

Watch Video Solution

5 × 106 + 4 × 103 + 5 × 102 ×
1

10

10. Findx, if .

Watch Video Solution

(2)8 × ( )
4

= 22x1

2

1. Perimeter of a rectangular garden is

. Find the area of the garden in1.2 × 105m  and length 0.2 × 105m

https://dl.doubtnut.com/l/_Z6KUwTWQwndq
https://dl.doubtnut.com/l/_2chUa4tb9Qgb
https://dl.doubtnut.com/l/_YLbXIBjy5dzl
https://dl.doubtnut.com/l/_ImQ1ny7D0QJ9
https://dl.doubtnut.com/l/_EkdwDDXjgI0x


standard form.

Watch Video Solution

2. Find the value of  and

express in standard form.

Watch Video Solution

4.09 × 107 + 2800000 + 3.2 × 106 + 980000

3. If 
, then the value of 
is
 
b. 
c. 
d. 

Watch Video Solution

( )
x

. x− 1

=
9

4

8

27

2

3
x 1 2 3 4

4. If , then find the value of .

Watch Video Solution

x = ( )
4

÷ ( )
2

2

3

2

3
x2 + 2x + 3

https://dl.doubtnut.com/l/_EkdwDDXjgI0x
https://dl.doubtnut.com/l/_IoSvXlVqmEjs
https://dl.doubtnut.com/l/_P4BwmpjKouJY
https://dl.doubtnut.com/l/_AKNHUtDHuJ85


Exercise Integer Numerical Value Type

5. Simplify : 

Watch Video Solution

+
32

22

( × )
2

1

16

1

8

( )
3

÷ ( )
3

1

4

1

2

1. What is the value of ?

Watch Video Solution

( − 1)
150

2. If , then find x.

Watch Video Solution

36 = 3x− 2

3. What is the value of x, if ?

Watch Video Solution

2x+ 5 = 512

https://dl.doubtnut.com/l/_aikxgg45cyVG
https://dl.doubtnut.com/l/_VSrBTCB2rWI0
https://dl.doubtnut.com/l/_ZFeH1CphVnJT
https://dl.doubtnut.com/l/_9kbzn55lEfQq


4. What is the value of y, if = 10000000`?

Watch Video Solution

(10)
y

5. What is the value of x so that  is 5 more than ?

Watch Video Solution

3x 22

6. Find .

Watch Video Solution

xx,  if = ( )
x

64

27

4

3

7. What is the value of ?

Watch Video Solution

×
1

900

1

9990

https://dl.doubtnut.com/l/_9kbzn55lEfQq
https://dl.doubtnut.com/l/_NVFkuOoyk1vm
https://dl.doubtnut.com/l/_jKQz2FCjDK7T
https://dl.doubtnut.com/l/_Ns9ilDUnahNp
https://dl.doubtnut.com/l/_4my6SN4tYuHU


Olympiad Hots Corner

8. Find x, if .

Watch Video Solution

106 ÷ 1002 = 102x

9. If , then find 5x.

Watch Video Solution

(729)2 = 9x

10. What is the value of ?

Watch Video Solution

[ ]

3
7

(4/3)
0

1. The value of  is
((243)

5)
4

((32)4)
5

https://dl.doubtnut.com/l/_dkjIhFYKN6h8
https://dl.doubtnut.com/l/_Kq6lqVlKLY8D
https://dl.doubtnut.com/l/_h8GTvWhZc06a
https://dl.doubtnut.com/l/_0MpNuKGIaVIw


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

( )
100

3

2

1

23 × 33

1

24 × 34

2. Perimeter of a rectangular garden is  km. Find the area of the

garden in standard form.

A. 

B. 

C. 

D. 

Answer: B

2.2 × 108

8 × 106km2

2.8 × 1015km2

80 × 108km2

28 × 1014km2

https://dl.doubtnut.com/l/_0MpNuKGIaVIw
https://dl.doubtnut.com/l/_MDaTBQYUeXCN


View Text Solution

3. Which of the following statements is correct? 

Statement I , If  , then x = 2. 


Statement II : If  . Then x = 11.

A. Only statement I

B. Only statement II

C. Both statement I and Statement II

D. Neither statement I nor statement II

Answer: C

Watch Video Solution

( )
5

× ( )
11

= ( )
8x5

4

5

4

5

4

( )
3

× ( )
7

= ( )
x− 12

5

2

5

2

5

4. Simplify : 

A. 

2p− 8 × 8q− 4

2p− 11 × 8q− 5

25

https://dl.doubtnut.com/l/_MDaTBQYUeXCN
https://dl.doubtnut.com/l/_rnrcbgZmSRLu
https://dl.doubtnut.com/l/_iTIV5nxBVqzu


B. 

C. 

D. 

Answer: B

Watch Video Solution

26

23

24

5. A rectangular piece of land is to be sold off in Smaller pieces. The total

area of the land is  sq. miles. The pieces to be cut out as . Miles in

size. How many smaller pieces of the land can be sold at the given size?

A. 

B. 

C. 

D. None of these

Answer: C

217 162sq

215

164

29

https://dl.doubtnut.com/l/_iTIV5nxBVqzu
https://dl.doubtnut.com/l/_5KitRNSySlPH


Watch Video Solution

6. Match the following. 

 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P − 1, Q − 4, R − 3, S − 2

P − 3, Q − 1. R − 4, S − 2

P − 2, Q − 3, R − 1, S − 4

P − 3, Q − 4, R − 1, S − 2

https://dl.doubtnut.com/l/_5KitRNSySlPH
https://dl.doubtnut.com/l/_uHVhdPw8FLQ5


7. Which of the following option is not correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

162 ÷ 43 = 22

32 × 27 = 35

[( − 2)2]
m

= 4m

40 + 41 + 42 = 20

https://dl.doubtnut.com/l/_uHVhdPw8FLQ5
https://dl.doubtnut.com/l/_GT6yV1sqd6s5


8. Match the following. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P − 2, Q − 4, R − 1, S − 3

P − 3, Q − 4, R − 1, S − 2

P − 4, Q − 2, R − 3, S − 1

P − 3, Q − 4, R − 2, S − 1

https://dl.doubtnut.com/l/_VIVlyAy2oU8O


9. If . Then the value of 'x' will be

A. 4

B. 2

C. 5

D. None of these

Answer: A

Watch Video Solution

=
32x− 6

225

52

5x

10. What is value of ?

A. a

B. 

C. 1

D. 1/a

(a10)
3

(a6)
5

a2

https://dl.doubtnut.com/l/_Jzi49CT8cAaE
https://dl.doubtnut.com/l/_IrxPfCnK7Dbr


Answer: C

Watch Video Solution

11. If , then the value of m is

A. 2

B. 3

C. 4

D. 0

Answer: B

Watch Video Solution

=
32

500

(2)
3

(5)m

12. The value of  is
( )

3

× ( )
3

2

5

1

7

( )
2

× ( )
4

2

5

1

7

https://dl.doubtnut.com/l/_IrxPfCnK7Dbr
https://dl.doubtnut.com/l/_WNu93glDPXci
https://dl.doubtnut.com/l/_5uCpc65jTySj


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2

35

5

14

14
1

2

2
4

5

13. Find the value of .

A. 1

B. 

C. 

D. 0

Answer: C

Watch Video Solution

x,  if x3 =
125

343

7

5

5

7

https://dl.doubtnut.com/l/_5uCpc65jTySj
https://dl.doubtnut.com/l/_jTpzzwIkpWB1


14. If , then find the value of a + b.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= (3125)
b

× a358 × 67

(25)
3

× 64

25

3

3

5

6
2

5

5

3

15. Simplify and write as product of exponential form of primes ,

A. 

B. 

(2016 + 2013) × 203

212 × 56

26 × 56

https://dl.doubtnut.com/l/_jTpzzwIkpWB1
https://dl.doubtnut.com/l/_RLeVUbVqRBAM
https://dl.doubtnut.com/l/_2AcHMKIsWTEJ


C. 

D. None of these

Answer: D

Watch Video Solution

206

https://dl.doubtnut.com/l/_2AcHMKIsWTEJ

